ID: 1

Name
Assignment Date Period
Solve each inequality and graph its solution.
1) |sk+1]>36 2) [8+a|<2
AR A S A D P PO P S AL S R S
3) |sn—2|<—2 4) [5+x| >4
-5 4 3 2-1 0 1 2 3 4 5 6 7 8 -14 -12 -10 -8 -6 —4 -2 0 2
5) |[-9-n|>16 6) |6p+8|>-58
-28 24 -20 -16 -12 -8 4 0 4 8 -7-6-5-4-3-2-101 2 3 456 7 8
7 |7+3m| =25 8) [8-9x|>10
N T A A B S DRI S S S
9) |8x—6| <58 10) |2b-9] <29
At G+ttt ++>
-6 —4 -2 0 2 4 6 8 10 -7 6 -5 4 -3 2 -1 0 1 2 3 4
11) |5n-9] >-29 12) |-4r—-9| <7
NI T T S S S S N S S S
13) |-5—-10n|>-75 14) |-b-10| =8
NI S T S A B S R TR PR PR M S S
15) |-8x—10| <18 16) |5x+10| <50
N -6 -5 -4 3 2 -1 0 1 ; 3 - N -12 -8 —4 0 4 8 7
17) |10a+2|>52 18) |2x+2| <14
—~—++t+t+—++—+t++—t++t+t++—t++> &~
-8 -6 -4 2 0 2 4 6 8 10 -10 -8 -6 —4 -2 0 2 4 6
19) |9+ 10v| > 39 20) |k+1|>10
&~ “—~4—ttt+—t+—t+—t—t+—t—t—t—t+————>
-8 -6 —4 -2 0 2 4 6 8 -16 -12 -8 —4 0 4 8 12

'\_‘i ~
N gagsgspatih-gserbsheeh.oryg
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21) |8x+1| <15 22) |4+ p| 23

A\ 4

&—1
<

-3 -2 -1 0 1 2 3 4 -10 -8 -6 -4 -2 0 2
23) |4n+1| <13 24) |5sm+9| <9
&—1 AN &—1 1 1 1 1 1 1 1 1\
S T T T T T T T T T T 7 S T T T T T T T 7
-6 -5 4 -3 -2 -1 0 1 2 3 4 5 -6 -5 —4 -3 -2 -1 0 1 2

2 gegsgs apatih-worhsheet.ory
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Answers to Assignment (ID: 1)

1) k>70rk<—%:(-l—()-l—l—i—l—l—l—+()|—|—)

-8 -4 0 4 8
2) -10<a<-6:
3) No solution. :
-5 -4-3-2-1012 3 456 78
4) x=2-lorx<-9:
-14 -12 -10 -8 6 4 -2 0 2
-2 e+
5) "= 501 ">7 -25 -20 —15 —10 —5 0 5 10
6) { All real numbers. } : (ujjmsjmjujujjjjjjjj—j—j—j—)
32

7) 1)12601'ms—?-: o ——————-0=t—t—)

-12 -11 -10 9 8 -7 -6 -5 -4 3

-12 -8 —4 0 4 8

2
8) \f<—301 X > 2 di—j—t—C}

L
L]
-3 -2 -1 0 1

g:::::)

3 4 5 6 17

13
9) —— < X < 8 | €O ——t—————
2 -6 4 -2 0 2 4 6 8§ 10

10) No solution. :
7—6—5—4—3—2—1 01 2 3 4

11) { All real numbers. } : €= ———————i—

—5—4—3—2—10 1 2 3 4 5

1
12) 4d<r<——: (—I—O-I—I—IIO-I—I—I—I—)
2

-5 4 3 -2 1 2 3

13) { All real numbers. } : (-l—l—l—l—l—l—l—l—l—l-)
14) b<-18orb=>-2: (—|—0—|—|—|—|—|—|—|—0—|—)

7
15) ——<x<1:
2

6 -5 4 3 -2 -1 0 1 2 3

l6)—12<x<8:€|—_Clz:_:8: e O—

-4 0 4 8

27
17) a>50ra<—?:-(-|—|o—|—|—|—|—|-o-|—|—|-)

-8 6 4 -2 0 2 4 6 8 10

18) —8 < x <6 : €@ tmimief ) —

-0 -8 6 4 -2 0 2 4 6

24
19) v23orvs—?:(—l—|—.-l—|—l—l-0ll—l—l-)

-8 6 4 -2 0 2 4 6 8

20) k>9ork<—11: (-l-o-loi—H—i—H—i—H—Dl-o—)

-16 -12

7
21) -2 < x < — ;| €O —t—|——O— >
4

-3 -2 -1 0 1 2 3 4

>—1or p<—7 ; Guimnimpi—————— @il
22) p> 101p< 7 -10 -8 -6 -4 -2 0 2

7
23) —;<n<3:

-6 5 4 -3 -2-101 2 3 4 5

18
24) —— < m <0 : H——1Ho=p—jr——j————>
5 6 -5 4 3 2 -1 0 1 2

s mabh-worksheeh.ory
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Assignment
Solve each inequality and graph its solution.

1) [1on-8|>92

3) |-8-9b| <80

&—1 1 1 1 1 1 1 1
S T T T T T T T T T T T
-7 -6 -5 -4 -3 -2 -1 0 1 2 3 4

A\ 4

5) |2r+4| <20

&—1 1 1 1 1 1
S T T T T T T T T T T T T
-4 3 2 -1 0 1 2 3 4 5 6 7 8

A\ 4

7) |5-10n| > 45
-7-6-5-4-3-2-101 2 3 45 6 7 8
9) |10 10k| <30

-8 -7 -6 -5-4-3-2-101 2 3 4 5

11) |-3+2n|>-11

N
A\ 4

13) |m+2| 27

&—1 1 1 1 1 1 1
S T T T T T T T T T T
-12 -10 8 -6 -4 -2 0 2 4 6 8

A\ 4

15) |10+n| <3

&—1 1 1 1 1 1 1 1 1 1 1
S T T T T T T T T T T
-15 -14 -13 -12 -11 -10 -9 -8 -7 -6 -5

A\ 4

17) [7+b| <5

N
\ 4

19) |6-8x|>-18

&—1 1 1 1 1 1 1 1
S T T T T T T T T T T T T
-6 -5 4 -3 2 -1 0 1 2 3 4 5 6

v

=

N gegsgs palh-veorlsheeh.ory

Name

ID: 2

Date Period

2) [10-38x| =30
>

-6 -4 2 0 2 4 6 8 10

4) |9-9v| <-63

-5 -4 -3 -2-10 1 2 3 4 5 6 7 8

6) |-8x—-9| <63
&~

-10 -8 -6 -4 2 0 2 4 6 8
8) [3a—10| >-22
-6 -5-4-3-2-101 2 3 45 6 7 8

10) |-7x+2| <12

NVEL RS S A
12) |7x+3|<67

N MLV S S B
14) |3x+1| <4
>
16) |-4+2p|>12

NI I N S S
18) |4r+9| <11

\_I7 —:6 _:5 _:4 —:3 —:2 —:1 é 1 i ;
20) |5 -8b| <35

-6 5 4-3-2-101 2 3 4 5 6 7 8

math-worksheet.org



21) |10n-8| <88 22) |10x-9] >-99
&~

-8 -6 -4 -2 0 2 4 6 8 10 -7 -6 -5 -4 -3 -2 -1 0 1 2 3 4 5 6
23) |8-9x| =17 24) |ov—-9| <81
&—1 1 1 1 1 1 1 AN &—1 1 1 1 1 1 1 1 1 1 1\
S T T T T T T T T T T 7 S T T T T T T T T T T 7
-6 -5 4 -3 -2 -1 0 1 2 3 4 5 -10 -8 -6 4 -2 0 2 4 6 8§ 10 12

2 gegsgs apatih-worhsheet.ory
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Answers to Assignment (ID: 2)

42
1) 1121001'ns—?: IR B R R S

-12 -8 —4 0 4 8 12

5
2) X<——orx =5 ; G—p—t——i— - @ell—t—g
2 -6 4 -2 0 2 4 6 8 10

3) No solution. : ¢4+—+—4+—+—+—+—+—+——4———> 4) No solution. :
7 6-5-4-3-2-101 2 3 4 5432-10123456T738

5) No solution. :
-4 -3-2-101 2 3 4 5 6 7 8

2
6)—9s.xs'77:<—|-0: e )|

-10 8 6 4 -2 0 2 4 6 8

) n<—4dorn>5: (-a-n-l-o-|—|—|—|—|—|—|—|-o-|-|-|-)
8) { All real numbers. } : (: + : L. . : 4 : ===

-6-5-4-3-2-1012 3 456 7 8
9) No solution. :

84-76-54-3-2-101 23 435

10
10) —— < x <2 il ————>
7

4 -3 -2 -1 0 1 2 3 4 5

11) { All real numbers. } :

5 4-3-2-1012 3 456 7

12)—10<x<6—74:<—c: . . e O a2

-8 —4 0 4 8
13) m=5o0rm<-9 : i@ t——t———— @il
-12 -8 -4 0 4 8
14) —2<x< 1 Ol O ————>
3 3
15) —-13<n<-7: (—I—l—.—l—l—l—l—l—.—l—l—)
10 -8

16) p=8orp<—4: (—.—l—o ——t o—u—)

-8 6 4 4 6 8 10
17) —12<b <2 : €<+ @= ::::::::0—!—)
-12 -10 -8 -6 -4 -2

1
18) =5 <7 < — ;| €O mim—l—(—————>

2 -7 6 5 4 3 -2-1 0 1 2 3

19) { All real numbers. } : (uimjmmjujjjj—j——j—(———

-6 -5-4-3-2-1012 3 456

15
20)_T<b<5 H—I—C::::::::

-6-54-3-2-10123 45678
48
21) 8<n<—:
5 -8 6 4 -2 0 2 4 6 8 10
22) { All real numbers. } :

-7-6-5-4-3-2-101 2 3 456

25
23) x<-lorx=>—:
9 -6 543 -2-1201 2 3 4 5

24) —8 <V< 101 ¢ @it ——>

-4 0 4 8 12

s mabh-worksheeh.ory
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Assignment
Solve each inequality and graph its solution.

1) |5a-9|>11

-4 -3 -2-1 0 1 2 3 4 5 6 7 8 9

3) |-7x+3] <32

-6 -5 -4-3-2-101 2 3 4 5 6 7 8

5) |[-3+2n|>17

&—1 AN
S T T T T T T T T T T T 7
-8 —4 0 4 8 12
7) [8+2r| <6
&—1 1 1 1 1 1 1 1 1 1 AN
S T T T T T T T T T T 7
-9 8 -7 6 -5 4 3 -2 -1 0 1 2
9) |—b + 1| > 1
&—1 AN
N T d

T T T T T T T T T
-3 2 -1 0 1 2 3 4 5 6

13) |n-8| <5

o1 2 3 4 5 6 7 8 9 1011 12 13 14

15) |8a—8| <56

N -8 -6 -4 -2 (:) 2 4 6 8 10 7
19) |10+3p| <-17

=

N gegsgs palh-veorlsheeh.ory

Name

ID: 3

Date Period

2) |-10p+3| <37

“—t——t+—+—t+—+—+—+—+—+—++
-4 -3 -2 -1 0 1 2 3 4 5 6 7 8

4) |6k — 10| <—64

-8 -7-6-5-4-3-2-101 2 3 4 5 6

6) |10m+5| <55

10) |5+2x| <13
D B e e e e e S o e e e e e e

-10 -8 -6 —4 -2 0 2 4 6
12) |2v-7]| =5
-2 -1 0 1 2 3 4 5 6 7 8 9 10 11

14) |2x-8| > 16

4 1 1 1 1 1 1 1 1 1 1 1 1 AN
< T T T T T T T T T T T T 7
-8 6 4 -2 0 2 4 6 8 10 12 14
16) |10-9x| =71
2 AN
< 7

N
A\ 4

20) |-7x+ 3| >-32

8 -7-6-5-4-3-2-101 2 3 4 5 6

math-worksheet.org



21) |-10n-9] <69 22) |2b+3] >3

&—1 1 1 1 1 1 1 1 AN
S T T T T T T T T T 7
8-7-6-5-4-3-2-101 2 3 456 78 -7 -6 -5 -4 -3 -2 -1 0 1 2 3
23) |10+ 2r| <6 24) |6+3n| =18
&—1 1 1 1 1 1 1 1 1 1\ & 1 1 1 1 1 1 1 AN
S T T T T T T T T 7 < T T T T T T T T T T 7
-4 -3 -2 -1 0 1 2 3 4 5 -12 -10 -8 -6 -4 -2 0 2 4 6 8

2 gegsgs apatih-worhsheet.ory
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Answers to Assignment (ID: 3)

2
1) 02401'as—§:(-|—|—|—|.—|—i—i—.-l—l—l—l—l-)

-4-3-2-1012 3 456 7 89

2) No solution. :
-4 -3-2-101 2 3 45 6 7 8

29
3) —— < x <5 € Omimmjjjj—j—j—
7 -6-5-4-3-2-1012 3 4567 8

4) No solution. :
8-76-54-3-2-1012 3 456
S)yn>100rn<-7:
-8 —4 0 4 8 12
6) —6 <m <5 : € Ommimm—l—t— :O—I—g—> 7) =T <r<—1: €+

8 % 4 2 0 2 46 987 65432101 2
8) 4 <n<3: ¢ @=immim
—7—6—5—4—3—21012345
9) b<Oord>2:
-3 -2 -1 0 1 2 3 4 5 6
10) -9 < x < 4 : €FOmimfujmmjmjujujujjfufepe O———>

-0 8 -6 4 -2 0 2 B 6

82
11) xs—100rx27:(—|-|-0-|—|—|—|—|—|—|—|—|—|-0-|—)

-12 -8 4 0 4 8 12

12) v=260rv<1 : i@t @il

2-101 2 3 45 6 7 8 91011

13) 3 <n <13 €-Omirjmmjmjujmjjj O——

0123456 78 9111121314
14) x>12o0orx<—4:
15) 6<a<8:
-4 -2 0 2 4 6 8 10

16) {Alllealmunbels} i ————_—

-8 -7-6-54-3-2-101 2 3 4

-8 6 4-20 2 4 6 8 1012 14

8 6 4 -2 0 2 4 6 8 10

37
17) -8 <k<—-: < @=

32
18)—2<m<?:(—l—|—l—C: e >

-5 4 3 2 -1 0 1 2 3 4

19) No solution. : <—|—|—|—|—|—|—|—|—|—|—)

3 2 1
20) {Alllealnumbels } ‘_.8_.7_.6_.5_.4_.3_.2_.16 . é’
39
21)——<11<6:€C:::::::::::::Q—I—H
5 -6 4 =2 0 2 4 6 8

22) b=0orb<-3: (-l—l—l—l—o—l—l—o—l—l—l-)

—7—6—5—4—3—2—10

23) No solution. : €+— ——t—t—
-4 3 —2 -1 3

24) n=4orn<-8: (—|—|—0—|—|—|—|—|—0—|—|-)

s mabh-worksheeh.ory
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Assignment
Solve each inequality and graph its solution.

1) |[-sn+2|<7

&1l N
< 1 1 1 1 1 1 —2
3 S -1 0 1 2 3 4

3) |7x+2| <40
9 -8-7-6-5-4-3-2-1012 3 456
5) [2x-7] <5
&1 N
< T T T T T T T T —2
0 1 2 3 4 5 6 7 8 9
7 lex-17] <1
&1 N
S T T T T LI
-1 0 1 2 3 4
9) |4p-8|>12

-4 -3-2-101 2 3 4 5 6 7 8 910

11) [7m-9| <2

&—1
< T T T T T
-1 0 1 2 3 4

A\ 4

13) |2r+4| <16

-10 -8 -6 4 -2 0 2 4 6 8

15) |7+3n|>-29

-5 4 3 -2-1 0 1 2 3 4 5 6 7 8

17) [8+3v| <16

=

N gegsgs palh-veorlsheeh.ory

ID: 4
Name

Date Period

2) |av-7]>11

-6 -4 -2 0 2 4 6 8 10 12

4) |-2+2a|>6

-5 4 -3 -2-1 0 1 2 3 4 5 6 7 8

6) [10-8a| <70

&—1 1 1 1 1 1 1 1 1 1 1 N\
S T T T T T T T T T T 7
-10 -8 -6 4 -2 0 2 4 6 8§ 10 12

8) |7k-8| > 50

&—1 1 1 1 1 1
S T T T T T T T T T T
-10 -8 -6 4 -2 0 2 4 6 8 10

10) |7-8x| > 25

-5 4 -3 -2-1 0 1 2 3 4 5 6 7 8

12) [3n-9] <-12

&—1 1 1 1 1 1
S T T T T T T T T T T T T
-4 3 2 -1 0 1 2 3 4 5 6 7 8

14) |6x—3| = -39

-6 -5 4 -3-2-101 2 3 4 5 6 7

16) |4b+3] <35

&—1 1 1 1 1 1 N\
S T T T T T T T T T 7
-10 -8 -6 -4 -2 0 2 4 6 8 10

18) |sk+7| <=3

-8-7-6-5-4-3-2-101 2 3 45 6 7 8

20) |-10a+2| > 68

4 1 1 1 1 1 1 1
< T T T T T T T T T T T
-10 -8 -6 4 -2 0 2 4 6 8 10

math-worksheet.org



21) |-9x +2| <-52 22) |2n-17| <23

-6 -5 -4-3-2-101 2 3 4 5 6 7 8 -8 -4 0 4 8 12 16
23) |4x-7| <25 24) |7-17x| <-35
&—1 1 1 1 1 1 AN
e|_H_|_|_|_H_|_|_|_|_|_H_|_|_|% S T T T T T T T T T T 7
-6 -4 2 0 2 4 6 8 10 -5 4 3 2 -1 0 1 2 3 4 5 6

2 gegsgs apatih-worhsheet.ory
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Answers to Assignment (ID: 4)

9
1) -1 <n<—: 64— Omim—im=@————>
5

-3 2 - 0 1 2 3 4

2) v290rvs—2:(—mé ———

2 4 6 8 10 12

3) —63x$§: - O |
7

8 6 -4 -2 0 2 4 6
4 a>4ora<-2:
-54-3-2-1012 3 456 78
5) 1< x <6 €—Ommiml—j——————>
0 1 2 3 4 5 6 7 8 9

15
6)—Ts(zs10:<—|—_8.:_:4 } 0 4 4 ‘ s._1|2_>

N
4

4
7 1l<x<—: € } OO—4 i i
3 -1 0 1 2 3 4

58

8) k>— ork < —6 : Gmimmimm Ottt
7 -8 -4 0 4 8

9) p>Sorp<-1:

4-3-2-1012 3 45678 910

9
10) xs—zorx24:(-|—|—|-¢—|—|—|—|—|—o-|-|-|—|-)

-54-3-2-10123 4526738

11
1) 1<m<—: €+ } }
7 -1 0 1 2 3 4

12) No solution. :

4 -3-2-101 2 3 45 6 7 8

13) —10 <7< 6 : {— Qi@ ——>
10 8 6 4 2 0 2 4 6 8

14) {Alllealmunbels.}.‘_.6_.5_.4_.3_.2_.1(.) SEEE . ;)

15) { All real numbers. } : €=}

18) No solution. : €¢—+—+++++++++++++++1+>

8 6 4 -2 0 2 4 6 8

19) n<—§orn>2:(-l—l—l-0—l—l—o-l—l—l—l—l-)

-4 -3 -2-101 2 3 4 5 6 7

33
20) a<——ora>7 : it Ol—ty
5 -8 —4 0 4 8
21) No solution. :
6-5-4-3-2-101 23 4567 8
22)_83"315:6__.3:4:1: e S

9
23)—;33&8:(—50_!4 ————0—>

-2 0 2 4 6 8§ 10

24) No solution. :

5 4 -3-2-101 2 3 4 5 6

vswssabh-workshees.oryg
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ID: 5

Name
Assignment Date Period
Solve each inequality and graph its solution.
1) |-7-4m|>-31 2) |-1-8x| <47
\—:4 —I3 —I2 —Il (I) i 5 5 :l/ -8 -7-6 5-4-3-2-101 2 3 4 5 6
3) [3n+9| <12 4) |7+5b| <53
\—iOI—ISI—Iﬁl—I4I—I2I6I£/ -7 6 5 4 -3 -2-10 1 2 3 4 5 6
5) |[4p-8| 232 6) |2x+4|>10
—————————————> A
-8 -6 4 -2 0 2 4 6 8 10 12 14 -10 -8 -6 —4 -2 0 2 4 6
7) |9+4n| =33 8) |5a+3| <52
I T S S L B NI S S S
9) |5+4r|>41 10) |8 +3v| <7
—A——t—t—t—t—t—t——t————+—> Y 2 R S SR S S TN SR S T
-12 -8 —4 1] 4 8 12 -7 -6 -5 —4 -3 -2 -1 0 1
11) [8x+3]>-37 12) |-ox+3| <3
-8 -7 -6 -5-4-3-2-101 2 3 4 5 \—:1 (I) ; é :I‘vl
13) |5+2a| >-17 14) |-4-7n| > 31
NIV S T I B I LRI S I
15) |10-6p| <26 16) |-7x—6] <76
-S54 -3-2-101 2 3 4 5 6 7 8 9 \—IS—I4—I3—I2—I1(I) 1 5 5 ;1 ; é ;/
17) |2k-6| <4 18) |-5r—7| >33
N T S S S S AR A S S A B
19) |-7+m|=-15 20) |5-8x| <29
\—4 —I3 —I2 —Il (I) 1 2 3 4 5 é 7 8 7 \—4 -3 2 -1 0 1 2 3 4 5 7

'\_‘i ~
N gagsgspatih-gserbsheeh.oryg
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21) |2n-38| <4 22) |7v+5]>58

4 AN &—1 1 1 1 1 1 1 1 1 1 1 1\
S T T T T T T T T T 7 S T T T T T T T T T T 7
-1 0 1 2 3 4 5 6 7 8 9 -12-10 -8 -6 -4 -2 0 2 4 6 8 10
23) |5x+4| > 24 24) |10b+5| <75
&~ > <~ >
-10 8 -6 -4 -2 0 2 4 6 8 -10 -8 -6 -4 -2 0 2 4 6 8

2 gegsgs apatih-worhsheet.ory
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Answers to Assignment (ID: 5)
1) { All real numbers. } : ‘54 S e s e s s

2
2)—6<x<§:<—|—|—0:::::::::::3—>

3) -7<n<1: (—l—l—l—.: it :.—g—) 4) No solution. :
5)p>1001p<6(—l-.: =

| — 'l
LI
-8 6 4-20 2 8 10 12 14

6) x>3orx<-7: (-l-l-l-o-l—H—H—H—H-o-H-l-)

-7-6-5-4-3-2-101 2 3 4 5 6

S )

-10 -8 —4
21
7) n=>6o0rn<—— ; Gumip@——t—t—t—t—t——@jjuml
) 2 -12 -8 -4 0 4 3
8) No solution. : ¢4+—+—+—+—+—F—+—F+—+—>
5 4 3 2 -1 0 1 2 3 4

23
Gy ery s —— L D L D
2 -12 -8 -4 0 4 8 12

1
10) =5 < v < —— ;| 6 Omiml—(—t— ———)
3 7.6 5 4 3 2 -1 0 1
11) { All real numbers. } :

8-76-54-3-2-1012 3 435

2
12) 0<x<2: o—0— |

L
L]
1 0 1 2 3

13) {Allrealnumbers.}:(34 M e o e =

149) n<-Sorn>—:
7 8-7-6-54-3-2-1012 3 456

8
15)—;<p<6:(—H—CZ::::::Z

-54-3-2-10123 456172829
16) No solution. :
-5 4-3-2-1012 3 456 17
17) 1 <k <5 €O m—t—t———
0 1 2 3 4 5 6
26
18) rS—Sorrz?:(-l—l—Q—l—!—l—l—l—l-.l—l—)

-12 -8 —4 0 4 8

19) { All real numbers. } : €iimjmjjj—fjjjjjj=)

4 -3-2-101 2 3 45 6 7 8

20) —3<x<1—7: A Ol ——] ——
4

4 3 -2 -1 0 1 2 3 4 5

21) 2<n <6 : H——O—tmmimien@————>
-1 0 1 2 3 4 5 6 7 8 9

53
22) v>—orv< -9 : G O———t—t—t—t—-Culy
7 -12 -8 -4 0 4 8

28
23) x=z4orx<——:
5 -10 -8 -6 4 -2 0 2 4 6 8

24) 8<b<T7: <—|—0—|—|—|—|—|—|—|-0-|—>

10 8 6 -4 2 0

s mabh-worksheeh.ory
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Assignment
Solve each inequality and graph its solution.

1) |sk+4| <6

&1l 1 1 1 1 1 N\
S T T T T T 7
-5 -4 -3 -2 -1 0 1

3) |4a+4| <24

-8-7-6-5-4-3-2-101 23 45 6 7

5) |1+4n|>37
D m s S e e e e e e I s
-2 -8 -4 0 4 8 12

7 |7-5n]2-23

8 -7-6-5-4-3-2-101 2 3 4 5 6

13) |-2a+5]>15

y

&—1 1 1 1 1 1 1 1 1 1 1
S T T T T T T T T T T 7
-8 6 4 -2 0 2 4 6 8 10 12 14

15) |1+5v|>11

17) |10n+4| <46

-8 -7-6 -5-4-3-2-10 1 2 3 4 5

19) |8 +4k| <8

=

N gegsgs palh-veorlsheeh.ory

ID: 6
Name

Date Period

2) [3x+3|>9

-8-7-6-5-4-3-2-101 2 3 45 6 7

4) [10x+3| > 57
&~

-0 -8 -6 -4 -2 0 2 4 6 8

6) |[6m—6| <18

8) [10-6p| <44
—~—+t++—t++t+t++—+—+—t+t+—t+—tt+t>

-6 -4 2 0 2 4 6 8 10

10) |10r—7| =57
&~

-8 -6 -4 =2 0 2 4 6 8 10

12) |-4n—6| >-42

&—1 1 1 1 1
S T T T T T T T T T T
-4 -3 -2 -1 0 1 2 3 4 5 6

14) |7-7x| <49
-7-6-5-4-3-2-101 2 3 45 6 7 8

16) |-3x+5| =16

N
A\ 4

20) |1+ 5x| <49

4 1 1 1 1 1 1 1
< T T T T T T T T T T T
-10 8 -6 4 -2 0 2 4 6 8 10

A\ 4

math-worksheet.org



21) |4p+4|>28 22) |3-5n|>7

4 1 1 1 1 1 1 1 1 1 1 1\ &—1 1 1 1 1 1 1 1 1 N\
T T T T T T T T T T 7 S T T T T T T T T 7
-10 -8 -6 -4 -2 0 2 4 6 8 10 -4 -3 -2 -l 0 1 2 3 4 5
23) |x+3|>13 24) |6m—5| <65
-20 -16 -12 -8 -4 0 4 8 12 -8 -7-6-5-4-3-2-101 2 3 4 5 6

2 gegsgs apatih-worhsheet.ory
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Answers to Assignment (ID: 6)

1) 2<k<

m|w

. € t t i) —|—>

-5 —4 -3 -2 -1 0 1

2) x>20rx <4 : Guimpmpmim O—————-Omiesjajaly
-8 6 4 =2 0 2 4 6
3) —7<a<5:<—|-o-|-|-|-|-|-|-|-|-|-|-|-o-|—|—>

27
4) r>—01 x<—6: (-l—o—o—|—|—|—|—|—o|—|—)

-10 -8 6 —4

19
5) n=29orn < —— : Guimnit———————— Gl
9 -12 -8 -4 0 4 8 12

6) 2<m<4:
-5 -4-3-2-101 2 3 4 5 6 17

7) { All real numbers. } : ‘imimjmjmjejjjjjjjjjj=))

8-76-54-3-2-101 23 456

17
8) —?<p<9 (—.-|—|—|—|—|—|—|-0-|—>

% -4 -2

9) No solution. :
-8-7-6-5-4-3-2-101 2 3 4

37
10) ;>—01;<—5 (—.—i-.-|—|—|—|—|—.-|—o-)

8 6 -4

-12 -8

12) { All real numbers. } : Q R s e ')

3 2 -1 0 1

13) a<—-5ora>10: (-|—|01—|—|—|—|—|—|—o—|—|-)

-8 6 4 -2 0 2 4 6 8 10 12 14

14) No solution. : ¢<+—+-4+4+-+-+-4+-4+4+++H+4+4+HH4++
-6

-4 -2 0 2 4 6 8

11) b>?401b< -10: (-l-l-.—|—|+H—H—|—|—|—|—.|-|-)

15) v>2orv<——:
5 -7 -6 -5-4-3-2-101 2 3 435

11
16) \‘<—?01 x>7: (—u—.—|—|—|—|—|-o-|—|—|-)

-6 4 -2 0 10 12

21
17) -5<n<—:
5 8-7-6-5-4-3-2-1012 3 45

3
18) ——<n<5'

-3 -2-10 1 2 3 4 5 6 7 8

19) —4<k<0 (—I—I—.—I—I—I—.—I—l—l—)

% -5 -4 -3 -2 -1

48
20) —10<x<?: Ol ——(——

-8 —4 0 4 8

- p < -8 : et OOl
21) p>6orp<-8 o+ : t :
4
22) n<—501nz7 (-I—I—I—Q—I—I—O—I—I—l-)-

3 2 -1

23) x> 10 or x < —16 : ¢=—tmel———————Q@==i=)

-20 -15 —10 -5 0 5 10 15
24) No solution. :

8-76-54-3-2-1012 3 456

s mabh-worksheeh.ory

math-worksheet.org



Assignment

Solve each inequality and graph its solution.

1) |5x-6|>26
&~

-8 -6 -4 2 0 2 4 6 8

3) [10-5r| <55
5) [v-6| <8

4 1 1 1 1 1 1 1 1 1 1 AN
T T T T T T T T T T 7
-4 -2 0 2 4 6 8 10 12 14

7) |-6n+6| <-36

-6 -5 -4 -3-2-10 1 2 3 4 5 6 7
9) |[-9-7x| <30
-7 6 5 4 -3 -2-10 1 2 3 4 5 6

11) |4+5x| <-11

N
\ 4

19) |2-4n| <18

-5 4 -3 -2-10 1 2 3 4 5 6 7 8

=

N gegsgs palh-veorlsheeh.ory

ID: 7

Name
Date Period
2) |8-6n|>-58
-7 -6 5-4-3-2-101 2 3 4 5 6 7
4) |4-6b|>-38
\—8—7—6—5—4—3—:2—101234/

6) |-2+6a| >-50

&—1 1 1 1 1 1 1 AN
S T T T T T T T T T T T 7
-5 4 -3 2 -1 0 1 2 3 4 5 6 7

8) |-7k+5| =23
-6 -5 4 -3-2-101 2 3 4 5 6 7

10) |8p+5| =77
—tt+—t+—t+—t+—+—t—t—t—t———>

-12 -8 -4 0 4 8 12

12) |2n+5| <1
At * g " 1R
14) |-x+4| >4

-4 -3-2-101 2 3 45 6 7 8 9 1011

16) |5-5r| <35

math-worksheet.org



21) |8v—6| <-70 22) |7a-6| >34

&—1 1 1 1 1 1 AN
S T T T T T T T T T —7 e|_|_|_|_|_|_|_|_|_|_|_H_|_|_|_|_H
-5 -4 -3 -2 -1 0 1 2 3 4 5 -8 -6 -4 -2 0 2 4 6 8
23) |-10-6x| <46 24) |-6x+ 6| >24
&—1 1 1 1 1 1 1 AN
S T T T T T T T T T T 7 e|_|_|_|_|_|_|_|_|_H_|_|_H_|_|_H
-12 -10 -8 -6 -4 -2 0 2 4 6 8 -8 -6 —4 -2 0 2 4 6 8

2 gegsgs apatih-worhsheet.ory
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Answers to Assignment (ID: 7)

32
1)Y>?01x<—4 i Dl

-8 6 4 -2 0 2 4 6 8

) { All eal mumbers. } : €ttt
3) 9<r<13: (—I—I.::::::::::I.I—)

-12 -8 0 4 8 12
4) { All real numbers. } : (: L L

-8 -7 -6 -5 -4 3—2101234
5) 2<v<14: (—I—C: )
0o 2 4 681012 14
6) {Alllealnumbels} S e

5 4-3-2-1012 3 456 7

7) No solution. :
-6 -54-3-2-1012 3 4567

18
8) /(S—701'k24:

6-5-4-3-2-1012 3 456 17

; LG
7 -7-6-54-3-2-101 23 45 6
10 >9 < 41
>9o0r p < —— ; Gumin@————————— @l
) P orp 4 -2 8 -4 0 4 8§ 12

11) No solution. :
-8 -7-6-5-4-3-2-1012 3 4

12) 3<n<-2: ¢+ t Pn)————>

-5 -4 3 -2 -1

46
13) m>—orm < —10 : im0~y
5 -12 -8 —4 0 4 8 12
14) x <0or x > 8 : Gttt ———————- @ttt
-4 2 0 2 4 6 8 10
7
15)p>—01p<—5 (-l-l-l-l-l-O—l—l—l—l—l—l—Ol-l-l-l-)

-10 -8

16)—63138.(—_!8—0: s

-6 4 -2 0 2 4 6 8

25
17) —— < b < 10 : €—Ommimmjjmji—j—j—————-
3 8 4 0 4 8 12

18) x> 7 orx < —2 : i O—p——t———-Onpmfmiend
-4 -2 0 2 4 6 8§ 10 12
19) 4<n<5:

5 4-3-2-1012 3 456 738

20) 112101‘rls—9:(-l-H.H—l—H—l—H—l-0-I-l—)
5 -12 -8 —4 0 4 8 12
21) No solution. : ¢—+—+—4+—4+—+—+—+—+—+—1+——>

-5 4 3 -2 -1 0 1 2 3 4 5

40
22)a>701a<—4 e 4t

-8 6 4 -2 0 2 4 6 8

—4 0 4 8

24) x<-3orx>5: (-l—l—.-o-l—|—|—|-o-|—|—)

8 6 —4

28
23)—?$xs6:(—l—01 o >

s mabh-worksheeh.ory
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ID: 8

Name

Assignment Date Period
Solve each inequality and graph its solution.
1) [10n+6|>-84 2) |2+6k|>-34

-7 6 5 4 -3 -2-101 2 3 4 5 6 \—I6 —IS —I4 —I3 —I2 —Il (I) i i 5 :l ; é e
3) |7+5x| <13 4) [10p+6| <84

DRI S S I S DRI R A T B S
5) |-4n+5|<-11 6) |-5+5r| =15

\—:5—:4—:3—:2—:1(:) ; 5 .:3 ;1 ; (I)/ -6 -5-4-3-2-101 2 3 4 5 6 7 8
7 |-2x-4| =10 8) |2-4n| <30
AA——————————t——t++++> G+ttt +>

-10 -8 -6 -4 -2 0 2 4 6 -10 -8 -6 4 -2 0 2 4 6 8§ 10
9) |-1+5m|>36 10) |4x-5]>35
> “G—t—+—+—t+—t—+—+—++t+—+++>

-12 -8 —4 0 4 8 12 -12 -8 —4 0 4 8 12
11) [7-5v|>18 12) |-5n-9| <24

-5 4 -3 -2-10 1 2 3 4 5 6 7 8 -9 8-7-6-5-4-3-2-101 2 3 45
13) [3b+7] <25 14) |7k - 6| <15
RV SIS I NIV S A B B S S

15) |-10p—6| <86 16) |2x+9|>9

\—I8 —I7 —I6 —IS —I4 —I3 —:2 —Il (I) 1 5 5 ;1 7 -12 -10 -8 -6 —4 -2 0 2
17) |4-5a| <9 18) |4 +6m| >-44

N S R S DRI T T S
19) |7+7n| 242 20) |-8 + 6x| <34

\—52—50 —:8 —:6 —:4 —:2 (:) 5 :1 (I) ;%l -7-6-5-4-3-2-101 2 3 456 7 8

'\_‘i ~
N gagsgspatih-gserbsheeh.oryg
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21) |-9b+5|>-22 22) |r+6|<-1

&—1 N ya N
S T T T T T T T T T T 7 S T T T T T T T T T T T 7
-6 -5 -4 -3 -2 -1 0 12 3 4 5 -7 -6 -5 -4 -3 -2 -1 0 1 2 3 4 5
23) |-5r+ 5| =40 24) |-4n+5]| > 41
& 1 1 1 1 1 1 1 1 1 1 1 1\
< T T T T T T T T T T T 7 e|_|_|_H_|_|_|_|_|_|_|_|_|_|_H
-8 —4 0 4 8 12 -12 -8 —4 0 4 8 12 16

2 gegsgs apatih-worhsheet.ory
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Answers to Assignment (ID: 8)
1) { All real numbers. } : €imjmjmjmjjjjjj—j—j—j—j=)

7-6-5-4-32-101 23456
2) { All real numbers. } : lmjmjmmjmjjfjefjjj=)

-6 -5-4-3-2-101 2 3 4 5 6

3)—4<x<§:(—I—I—C ] ——

39
4)_9<p<?;(—_|—|-c: e —)
5) No solution. :
6) r=4orr<-2:
7) x<-Torx=>3:
-0 -8 -6 -4 -2 0 2 4 6

8)—7<n<8:<—|—_|;C: s ) ———

-4 0 4 8

37
9) m o —orm - =T —— A ()
5 -12 -8 —4 0 4 8 12

-5 43 -2-101 2 3 4 5 6

£6-5-4-3-2-1012 3 456 78

15
10) x>100rx<—7:(-|-|-o-|—|—|—|—|—|—|—|-o-|-|—)

-12 -8 —4 0 4 8 12

11
1) vie——orv>5:
5 -5 4-3-2-1012 3 456 7 8

33
12) —?<n<3:

9-8-76-54-3-2-101 2 3 435

-10 8 6 4 -2 0 2 4 6 8

32
13)—?<b<6(—0|:"::::0—|—)

9
14) —7<k<3 (—I—I—I—O—I—I—I—O—I—I—I—>

-3 -2 -1 0
15) No solution. :
-8 -7-6-54-3-2-1012 3 4
16) x>0orx<-9:

12 -10 8 -6 -4 -2 0 2

13
17) —1<a<?: A Ol————)—

-2 -1 0 1 2 3

18) { All real numbers. } : bttt
19) n=50rn<-7: (-|—|—|-0-|—|—|—|—|—|-0-|—|-)

)~ S ST e

21) { All real numbers. } : <= e j—j——

—6 5 -4 —3 -2 -1 0 1 2 3 4 5
22) No solution. :
-7-6-5-4-3-2-1012 3 45

23) r<—Torr=9:
23
24) n<—90rn>7:(-l—l-lOl+l—l—|—H—l—l—|-O-l-l-)

12 -8 4 0 4 8 12 16

3 4 0 4 8 12

s mabh-worksheeh.ory
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ID: 9

Name
Assignment Date Period
Solve each inequality and graph its solution.
1) |la-4|<1 2) |v—-4|>4
\; 5 :l ; é/ S5-4-3-2-1012 3 456 7 8 91011
3) |5-4n| <45 4) |7x-3] <39
“—~4—tt+—t+—t+—+—t+—t+—t+—t+—t+—t+—+—> D I e e e e o e o o o e e e e P
-12 -8 —4 0 4 8 12 -8 -6 —4 -2 0 2 4 6 8
5) |-3x—-4]>23 6) [4-5n| <1
N AN TR A L D A
7) |8k-5| <61 8) |-5x—4| <49
NI S S A % % 4 20 2 4 6t
9) |5+8p| <11 10) |6+ 7m| <50
< } } } } — —~—t++—t+t++—t+t+—+—t+—+—+—t+t+—t+t+—>
-3 -2 -1 0 1 2 -8 -6 —4 -2 0 2 4 6 8
11) |on+7] =79 12) |1+7x| >-62
NI T I S R B DRI S R S
13) |or+6| <-3 14) |-8+6x| <2
-6 -5 -4-3-2-101 2 3 45 6 7 8 -7 6 -5 4 -3 -2-10 1 2 3 4 5 6
15) |5+6b|>1 16) |8n+6|>42
“—F——+—t+——+—+—+—+—+—++> At
-6 -5 -4 -3 -2 -1 0 1 2 3 4 -8 -6 -4 2 0 2 4 6 8
17) |7-3n| <4 18) |1+5v|>—44
\(:) 1 i ; :l ;/ -7-6 -5-4-3-2-101 2 3 4 5 6 7
19) |10x-3| <-73 20) |-7-4k|>-35
-7 -6 -5 4 -3 -2-10 1 2 3 4 5 6 -8 -7 -6 -5-4-3-2-1201 2 3 45

'\_‘i ~
N gagsgspatih-gserbsheeh.oryg
- math-worksheet.org



21) |-3a-3| <18 22) |-4p-4| =20

> >
-10 -8 -6 -4 -2 0 2 4 6 -8 -6 -4 -2 0 2 4 6 8
23) |2-5n| <47 24) |5x—4| <9
4 1 1 1 1 1 1 1 1 1 1 1 1\ &—1 1 1 1 1 1 1 1\
< T T T T T T T T T T T 7 S T T T T T T 7
-8 —4 0 4 8 12 —4 -3 -2 -1 0 1 2 3

2 gegsgs apatih-worhsheet.ory

math-worksheet.org



Answers to Assignment (ID: 9)

1) 3<a<5: ——t———————>
2 3 4 5 6
2) v>80rv <0 : St O—d——————-Omfepies
-4 2 0 2 4 6 8 10

25
3) —10 <71 < == : €O Omimmimmimjjjjjj—j— -
2 -12 -8 —4 0 4 8 12

36
4)—7<x<6:<—|—|c: e O——

8 6 4 -2 0 2 4 6 8

19
5) x£—90rx2?:(—l—lc-l—l—l—l—l—l—l—0-l—l—)

-12 -8 —4 0 4 8

3
6)§<n<1:<_:3 t } —OO———>

-2 -1 0 1 2

7)—7sks§:<—n: e ) ———

-8 6 4 -2 0 2 4 6 8 10

53
8)—?ng9:<—_5¢ e e e

-8 —4 0 4 8
3
9) 2< p<—: €@y >
4 -3 -2 -1 0 1 2

10)—8<m<4—74:(—C: el ——

-8 6 4 -2 0 2 4 6 8

86
11) 112801'ns—?: B e i e

-12 -8 -4 0 4 8 12
12) { All real numbers. } : (_5 VERTR L o e e 6)
13) No solution. :

14) No solution. :

-6-54-3-2-10123 456738

-7-6-5-4-3-2-101 23 456

2
15)b>—501b< -1: ( ey

—5-4—3—2—101234

16) n>—01n<—6 (—l—o—l—l—l—l—o-l—l—)

8 6 -4

17) ls;zs£:<—|—o—|—|—o-|—|—>
3 0 1 2 3 4 5
18) {Allrealnumbers.}:(_:7_:6_:5_.'4_:3_:2_:1(:) S o ;)
19) No solution. :
-7-6-5-4-3-2-101 2 3 456
20) { All real numbers. } : €irmimmfmfffpei=)
21) -7 <a <5 : € Quimimimimijj——_— >
-0 -8 -6 4 —2 0 2 4 6

22) p<—60r p >4 : Guumimmg @)

—8—6—4—202468

23)—9<n<%:(—+€: fem e} :O—1|2—>
3

3 4 0 4 8

L L
T T
-4 3 -2

LO

13
24) —1<x<?: €

s mabh-worksheeh.ory
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ID: 10

Name

Assignment Date Period
Solve each inequality and graph its solution.
1) |2+7n|>-75 2) |-2x+8|>4
MRV I A S AR A A S A
3) [1om—5| <45 4) |7+8r]>15

-5 4 -3 -2-1 0 1 2 3 4 5 6 7 8 \—:7—:6—:5—:4—:3—:2—:1(:) i é;éll;/
5) |or+7| <79 6) |5+7b| <26

R S NIV S R S S
7) |7a+6| =20 8) [2+7x| <54
> A S S A S S T S S S T S S

-7 6 -5 4 3 -2 -1 0 1 2 3 4 5 -8 -6 -4 -2 0 2 4 6 8 10
9) [10n+6|>-94 10) |-7-3x| <-25
DRI A A A B MR IVIR S S S
11) |-10x-3] <-33 12) [1on-3|>77
AR T T T A DRI R B S
13) |4v—-2| <26 14) |8x—4| <76
At —t—t+—+—t+—+—+—+—+—+++>

-6 -4 2 0 2 4 6 8 10 -10 8 -6 4 -2 0 2 4 6 8 10
15) |2k-3] =19 16) |4—4n| <28
&—tt+t+t+—t+—t+—+—t+—t+—t+—t+—t+———> —~—+t++—t++—t+t++—+—+—t+t+—t+—+t+t>

-12 -8 -4 0 4 8 12 16 -6 -4 2 0 2 4 6 8 10
17) |10p—4| > 44 18) [n+8| <9

-6 -5-4-3-2-101 2 3 4 5 6 7 8 \—50 I —16 I —12 I —I8 I —I4 I (I) -
19) |-2+8x| =70 20) | -6+ 8r| > 26
N —I8I—I4I(I]I:¥I2I€I1I2I/ -6 -5 4 -3 -2-10 1 2 3 4 5 6 7

'\_‘i ~
N gagsgspatih-gserbsheeh.oryg
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21) |-m-4| <3 22) |4+7x| > 31

&—1 1 1 1 1 1 1 1 1 1 1 AN
S T T T T T T T T T T 7 e|_|_|_|_|_|_|_|_|_H_|_|_|_|_|_|_H%
10 -9 -8 -7 -6 -5 -4 -3 -2 -1 0 1 10 8 -6 -4 -2 0 2 4 6 8
23) |8v+7| <73 24) |10b+8| <68
ettt ——————————————————>
-10 8 -6 4 -2 0 2 4 6 8 -8 -6 -4 2 0 2 4 6 8

2 gegsgs apatih-worhsheet.ory
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Answers to Assignment (ID: 10)

1) { All real numbers. } : (_5 /RIS s e _5—,’
2) x<2o0rx=6:

3) 4<m<5:

-2 -10 1 2 3 4 5 6 7 8 9

-5 4-3-2-1012 3 456 738

Hr>lorr<——:
4 -7-6-5-4-3-2-1012 3 45

86
5)—?9'38:( e e e e o

-8 —4 0 4 8

31
6) —— < b < 3 : €O mi—————(—
7 -7-6-5-4-3-2-101 2 3 45
26

7) az2ora<——:
7 7-6-5-4-3-2-1012 3 435

-8 6 4 -2 0 2 4 6 8 10
9) { All real numbers. } : «uimmjumjumjujjjojjj—j—f—
){ . } ‘—4—3—2—1012345678’
10) No solution. :

8-7-6-5-4-3-2-101 2 3

4
11) No solution. : ¢—4+—+—+———+—+—"F———>
-4 3 -2 -1 0 1 2 3 4 5

37
12) n>801'n<—?: )

-8 -4 0 4 8

13) —6<v<7-(—o—|—|—|—|—|—|-o-|—|—)

14) 9<x<10(—lC :::""'O—)

15) k= 11ork<-8: (—|-|-o-|—|—|—|—|—|—|—|—|o|-|-|-)
16) 6<n<8: (—.—I—I—I—I—I—I—.—|—)

17) { All real numbels }

-6-5-4-3-2-1012 3 456 7 8

18) —17<n<1.<—_;0—0—|—|—|—|—|—|—|—|01—)

17
19) x29orxg—7;(—|-.—|—|—|—|—|—|—|—|ﬂ—|—|-)

52
8)—83xs7:<—0: . . S —_— S

20) r>4orr<—%:

-6 -54-3-2-1012 3 456 7

21) =7 < m < -1 : O mmi——t—t————>

-10 -8 -6 —4 -2 0
27
22) x>—orx<-5: (-|—|—|-0-|—|—|—|—o—|—|-)
7 -10 -8 -6 4

33
23) —10£v£7: O ipl—lp—————

38
24)—?<b<6(—c . — >

L)
8 6 4 2 0 2 4 6 8
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